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Monte Carlo method and evaluation
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pEA%:0,8(47%:0,2105%:0, 535%: 0, ([ 1%: 4, [FE5%:6, 251%: 85,35 47%: 75
Total returns = 75144 (out of 300000 investments) ROI 25.05%

PRS0, 5(0%:0,2:05%:0, B %1 (F105%: 4, [Fe5%: 8, 2555 70,35 47%: 102
Total returns = 91725 (out of 300000 investments) ROI 30.58%

PHE%E0,5(8%:0, 2851, Bl 1 (18%:6, %8, 7k 4%: 74, % 4%:101
Total returns = 128202 (out of 300000 investments) ROI=42.73%
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£ 3@ + 5 1,000
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seed
127

123

162

124

¥

R A% A\ Sif% i % et SR L%
21805280 1792214 57813 14935 1713 1000 400 40
0 0 31 80 1918 2637 24727 33040

Total returns = 32016337 (out of 101116450 investments) ROI=31.66%
21784694 1790522 47119 11589 1808 1000 400 400
0 1 38 103 1815 2504 24991 33179

Total returns = 33828231 (out of 101116450 investments) ROI=33.45%
21813310 1792874 43728 15323 1824 1000 400 400
1 0 41 78 1802 2440 24839 33393

Total returns = 53821000 (out of 101116450 investments) ROI=53.23%
21835940 1794734 49853 12594 1843 1000 400 400
1 1 36 95 1785 2471 24966 33111

Total returns = 55613367 (out of 101116450 investments) ROI=55_.00%
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SRcaTR > R —EFEZU T Bels (T 3 E-ASRIBE 1,000 3016
2718051 /£ GR/FE: XS ERIE 51 w2 @ a5 400 32778
FIENLLOIEER  FRESASEK w8 £330 400 39463
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65 310225220 4648785 52408 12961 1766 1000 400 400
0 0 46 124 2502 3336 33534 44542
Total returns = 43002864 (out of 135902550 investments) ROI=31.64% A 8
342 310066226 4635717 59943 13546 1732 1000 400 400
0 1 40 118 2538 3365 33745 44803
Total returns = 47811881 (out of 135902550 investments) ROI=35.18%
2134 310193100 4646145 50170 13721 1770 1000 400 400
1 0 48 117 2494 3414 33299 44692
Total returns = 353231397 (out of 135902550 investments) ROI=259.92%
453 310222884 4648593 46357 11561 1741 1000 400 400
1 1 52 139 2537 3334 33551 44538
Total returns = 357875537 (out of 135902550 investments) ROI=263.33%
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01, 02, 03, 04, 05, 07
01, 02, 03, 04, 05, 12
01, 02, 03, 04, 06, 10
01, 02, 03, 06, 08, 12
01, 02, 03, 07, 09, 10
01, 02, 04, 08, 09, 11
01, 02, 05, 06, 09, 11
01, 02, 05, 10, 11, 12
01, 02, 06, 07, 08, 10
01, 03, 04, 08, 09, 11
01, 03, 05, 06, 07, 11
01, 03, 05, 08, 10, 11
01, 03, 06, 09, 10, 12
01, 04, 05, 06, 08, 10
01, 04, 05, 06, 09, 10
01, 04, 06, 07, 11, 12
01, 04, 07, 08, 09, 12
01, 04, 07, 10, 11, 12
01, 05, 07, 08, 09, 12
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02, 03, 04, 06, 10, 11
02, 03, 05, 06, 08, 09
02, 03, 05, 06, 10, 11
02, 03, 05, 08, 09, 10
02, 03, 07, 08, 11, 12
02, 03, 07, 09, 11, 12
02, 04, 05, 07, 08, 11
02, 04, 06, 07, 09, 12
02, 04, 08, 09, 10, 12
02, 05, 06, 07, 10, 12
03, 04, 05, 09, 11, 12
03, 04, 06, 07, 08, 09
03, 04, 07, 08, 10, 12
03, 05, 06, 07, 10, 12
04, 05, 06, 08, 11, 12
04, 05, 07, 09, 10, 11
05, 07, 08, 09, 11, 12
06, 07, 08, 09, 10, 11
06, 08, 09, 10, 11, 12
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12 6f% = C(43,6)/C(49,12) = 0.00006608
81205 + R R BE M = (C(6,5)C(42,6))/C(49,12) = 0.0003411
1. —ER(REHE), C(12,6)=924 %, [£4A=924"50=46200
#fi > 0.00006608*(31216264055x%) +
0.0003411*(48080255( /%) = 20627.7+528.8
%< > 20627.7/46200 = 0.4579

2. HEBHEIRE, 2 12 {E5705H60R5, 38)F, BZZIK‘38*50—1900
il > 0.00006608%(38/924*3121626405H1%+694602%15% )+
0.0003411*(???*1925154%) = 847.05+5.8620

IR > 852.92/1900 = 0.4489
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